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that creates an Arraylist of programmers, Add 2
ite 2 method called totalSalaries() that takes an

public class F iver
public static void main(String] {
Arra s list =new ArraylList<>();

140,10));

S SEninrEYD 1i% 155,10,500)) 7
40,10)) ;
("Sami™,150,8,700)) 7




S amount which is added as

%] .

. 3 P onu.
Write a SeniorProgrammer class (o2 gas) . They bavea b

t of their salary. Override the toString() method to print programmer na
1us. : ! : : :

ass SeniorProgrammer extends Programmer {
protected double bonus;

blic SeniorProgrammer (String name, double hours, double rate, double bonus)

{
super (name, hours, rate) ;
this.bonus = bonus;
}

publie double getBonus () {
return bonus; }

public void setBonus (double bonus) {
this.bonus = bonus; |}

public double getSalary() {
return getBonus () +super.getSalary();
}

@Override
iblic String toString() {
return "Senior Programmer name " +super.
jetSalary() ;
}




2 swer:
Question#l [30 Marks]Choilce the best An

3 i
: e empty Strings:
[u.“mkhofmcﬁmowmgsmmnwnmanaﬂYCWﬂwﬂ“a”“’°fﬁv 2

1. String[] a=new sString[3];
for(int 3=0;3<5;3++)
a[j]="";
St S L= (B
3. String alslr
A0 StErang [S] ey
5. String [] a=new String[5];

a[]=lllllJI ""I l'lll, ““‘|l“};

(LR LSRR AL B L L | TUII‘J.
r r I !

A. None B.Only 1 C.0nly 1 and 2 D.only 1,2 and 5

[2]- What is the value of n 2
String str="Comp231 midterm exam";
int n= str.indexOf ("231",str.length()-1);

Be. O BitE=1 (@ ! D.Compiler exrror

[3]- Given the following code, what is the output ?
StringBuilder sb = new StringBuilder ("Hi");
System.out.println(sb.length());

A. O B S 55 B, Compiler errar

[4]. Suppose List<String> list = new ArrayList<(); Which of the following operations are correct?
A. list.add(new Integer (100));
B. list.add(new ArrayList());
C. list.add("Red"}:;
D. list.add(new java.util.Date ()):

[S]- To find a maximum object in an array of strings (e.g., String[] names = {"red", "green",
""blue'}), nse

Arrays.max (names) ;

. Collecticons.max (Arrays.aslList (names)):
Arrays.sort (names) ;

Collections.max (names) ;

20T 3

[6]- This characteristic of ob]ject-oriented programming allows the correct version of an overridden
method to be called when an instanee of a subelass is used to call it.

A. TInheritance B.RAggregaticn €. Association DL Polymorphism

[7].The default equals method implementation of class Object determines:

whether two references refer to the same object in memory .
whether two references have the same type.

whether two objects have the same instance variabhles .
whether two objects have the same instance variable values .

oaop

/%,




7 'W;jcg‘ of the following statements is correct to create a DataOutputStream to write to a file named
out.dat?

A. DataOutputStream outfile = new DataOutputStream(new File("out.dat"));

B. DataOutputStream outfile = new DataOutputStream(new FileOutputStream("out.dat"))
C. DataOutputStream outfile = new DataOutputStream(FileOutputStream("out.dat"));

D. DataOutputStream outfile = new DataOutputSiream("out.dal");

8.Which class do you use to write data into a text file?
A. File B. PrntWriter
C. Scanner D. System
9.To read a data that are at known positions in a large file, we use class of type
A. RandomAccessFile B. FilelnputStream
C. File D. Scanner
10. To create a list to store integers, use
A. ArrayList<Object> list = new ArrayList<Integer>();
B. ArrayList< Integer > list = new AmayList<Integer>(};
C. ArrayList<int> list = new ArrayList<int>(; '
D. ArrayList<Number> list = new ArrayList<Integer>();
11. The method header is left blank in the following code. Fill in the header.

1. public class Test {

2. public static void main(String[] args ) {
3- Integer[] integers = {1, 2, 3, 4, 5};

4. String[] strings = {"London", "Paris”,
5. print(integers);

6. print(strings);

7 } v

8. 7222

9, for (int i =0; 1< Tist.length; i++)

10. System.out.print(list[i] + "
19 System.out.printlnO; }
12. }

A. public static void print(Integer(] list)
B. public static void print(String(] list)
C. public static void print(Object[] list)
D. public static <E> void print(E[] list)

A. ArrayList<Obj






[8].Which of the following keywords allows a subclass to access a superclass method even when the
subeclass has overridden the superclass method?
base.-

this.

publae.

sSUper.

oy ;o

()

[9].Using the protected keyword includes giving a member:
A. public access. B. package dccess.

[10]. What is the outpuf ?

C. private access. D.block scope.

class

Bl
A ()T
System.out.print (" Welceme!):
}
A(String str)d
System.out.print (str) ;
|

public class subClass
public static void madin (Striag[] args) {
new C(" Helle") : |

new B();

}

A. Helle Hi EB. Hellg Welceme C. Helle Hello

—

class B extends A {
BO{?}
E(String str) {
super (str) ;
}
}

class C extends B {
COf
super (" Hi'"):
}
C{String str){
super (stx) ;

—

¥

D.Hello Welcome Hi

Fill Answers in the following sheet (ISING CAPTIAL LETTERS ONLY):

b ] Asulady) Al cipan AaN Jaa disd ela
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Question#td [20 Marks]
Wirite ondy one method that accepis the length of password as a pavameter and gencrnte n random

Uawhich ineludes ehavacters from the following Hse(0-9 A=t w-z, and S !#% &), The

prasxavala

stanature of method

public static String passwordRandomiGenerator (int len) |

String chars YO123456785ABRCDEFGHWR R @HSRE" ;

Random g new Randomd) ;

Rt ringRuilder sb new StringBuilder(len);

0; 1 < len; 14++)
< Tcharat(rnd.nextInt (chars.length () )i ):
L i ‘.\‘

& uSy rangdom () method

werator (int len) ({

DEFGHwxyvz!G458&";

< len; 1++)

AL ((int) (Math.randem() *chars

JJdength()))):




.7 extends E> nums){..}

- Jlared as . ArrayList
13 f”‘ff‘;‘?"!‘g”’f&fiz <E super Number> void process(
. pubii

2. public static void main(Stringl] args ) s
3. // INSERT DECLARATIONS HERE

4. 22777 =

e 001

6. process ; .
Which deelaration could be placed at 2221

1o allow the code to compile?

/Li ing> X,
A. ArrayLisi<Integer> X ; B. ArrayList<Strng

C. ArraylList<Number> X; D. All of the above.

14. Name of the method that is used to load ODBC driver class of a database
A. DriverManager. getConnection(...) B. C‘lass.forNamc(. )
C. DriverManager.forName(...) D. Class.loadClass(...)

5. Name of the method that returns an object used to get a data about the query's result set
A. getResultsetMetaData() B. getMetaData()

C. getResultSet() E D. getData()

16. Calling
current position.

on a ResultSet rset object moves the ResultSet cursor five rows ahead of ifs

A. rset.absolute(rset.getRow( ) + 5) B. rset. relative (5)
C. rsel. absolute (5) D. Aand B

17. To create a statement on a Connection ohject conn, use

A. Statement statement = conn.statement();

B. Statement statement = Connecti on.createStatement();
C. Statement statement = conn.createStatement();

D). Statement statement = connection.create();

18. What is the return value from  stmt.executeUpdate(“insert into T values (100, *ALLY")

A. void

B_an int value indicating how many rows are effected from the invocation

C. a value indicating whether the SQL statement has been executed successfully
D. an object that contains the status of the execution

19. Result set meta data are retrieved through

A. a Connection object B. a Statement object
D, a PreparedStatement object.

C. a ResultSet Object




1. Given an array list declared as:
ArrayList <Integer> numList = new

ArrayList <Integer> 0s

A. Write a Java code segment to display the maximum element of the array list.

ption {

ic static <E extends Comparable<E>> & maximum(&rrayl-iﬁt‘ff" 1ist) throws 2
E max = list.get(@);
for(E element : list) { X :
if(element.compareTo(max) >@)
max = element;

publ

1

return max;

B. Write a Java code segment to replace 0dd numbers elements of the array

public static void replaceOddNumbers(Array

for(int i=@;i<list.size();its) {
if(list.get(i)%2 = 8)

list.set(i, 8); ¥



Question 4:  Write Java code

1.Given a frame doing simple calculations on two numbers as shown in the below figure. The
frame enables the user (o enter two numbers, select an operation(+,-,*) from a combo box and then
apply the operation on the numbers by clicking a compute button,

A. Write a Java code segment to define the GUI components as shown in the frame.

Humber1

Humher2

Operation

Result [ !

B. Write a Java code for function that perform the compute button action.
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1.Given:
1. public class Test {
2. static String s = "";
public static void doStuff(){s += "4'"; }

3.

4. public static void main(String[] args) {
o try {

6. = U1

s System.out.prinln(1/0);

8. } catch (Exception e){

9. S e

10. F finally {

11. 5 += "3"; doStuff();}
12 System.out.printin(s);

13. i}

‘What is the result?

A 12 B. 13
€C.123 D. 1234

2

checks whether the JCheckBox jehk is selected.

A. jehk getSelected() B. jchk selected()
C. jechk.isSelected() D. jchk select()
3 The method __adds an item s into a JComboBox jcbo.

A. jcbo.add(s) B. jebo.addChoice(s)

C. jcbo . addItem(s) D. jebo.addObject(s)
X > method that executes immediately after the init() method in an applet is

A.run() B. start ()

C. stop () D. paint ()

A7 "The default layout of the contentPane of a | Applet is

A. FlowLayout B. GridLayout
C. Borderlayout D. None

6.Which of the follo wing methods can be used o know what the user selects from the combo Box?

A. getSelectedtemn( ) B. getSelectedChoice( )
C. getSelectedIndex( ) D. getSelectedObject( )




Given the following UML diagram

= Programmer . _—
[ #name:String
#hours:double
#hourrate:double

+Programmer(String name,double hours,double hourrate)

+loString():String

+getSalary():double
+equals(Object obj):boolean
#bouns:double

SentorProgrammer(String name,double’
+getsalmy0 .double
[+ toString():String

NOTE:
Assume that ALL setters and gette

There is no grade for im plementation 0



20. Given:

1= PreparedStatement Stmt =
2. con.prepareStatement( "UPDATE EMPLOYEE SET SALARY — 7 WHERE EMP_NAME LIKE ?");
3. J/insert your code here

4. 2777

5, = Card

b. Stmt.updateRow();

Which code could be placed at ?22? to to update the salary for the employee whose name is "Rami” (o
he 5000 7

A. Stmt.setString(0, "Rami"); Stmt.setDouble(1, 5000);
B. Stmt.setDouble(0, 5000); Stmt.setString(1, "Rami");
Rasri C. Stmt.setDouble(l, 5000); Stmt.setString(2, "Rami');
R o D. Stmt.UpdateDouble(0, 5000); Stmt UpdateString(1, "Rami");

Table of Answers:

\1. TR R G e R [ I I B e L]

(14.]15.]16. 17. 13.‘[_1'9.|20.

Question 2:  Write Java code (5 points)
1 Given:

class App {

public static veid main(String [] args) {
System.out.printin("WELCOME TO MY WEBSITE');
System.out.printind );
System.out.println(” Currently Under Construction )

H

5l
2
3
4.
5.
6.

Convert the above Java program to an applet with the text output in the applet window.




